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NADP-3EREEHSE (NADP-MDH) XFI& 4B
Mk 100 /96 ¥

E 0 OE FRXNERSSLE 2-3 MIEE SR ABREAR MU E

MEREX :

MDH (EC 1.1.1.37) J"ZAFET B Y. RS FR4IpF, Zekifdst MDH /& TCA 1l 15
iz —, AV RBRE N EB AR X, K MDH (B 5EE Z B 8 R . BB 2R EE
Y, EZAEENNREHESE. Kk, MDH EAIMZ A B S IEE EEM A A, SELRA
MRS, ERR-RAERFR ARG WS AR AGUR IS . RIEAE 4RSS, MDH 43N
NAD-##5ff) MDH Fl NADP-##$ift] MDH, NADP-MDH : EA£4E T EAZ A .

MEFRIE:
NADP-MDH f{#1t NADPH & i 5t 2R A2 e SRR, 2L 340nm A Y T 1% .

mEEHMUENRR:
AN IOCEE B A. B DAL K AR R S /96 FLARCRIZRTRK

RIAILE R FOECH -

R LU 100 mLx1 i, 1E 4°CHEAES
A, Wifk 20 mLx1 i, 7E 4°CIRAT:
RAN= WX, -20°CIRAT

HANUERNES:
1. 4. 4HPREASURE S I 4%

B TR, e B B B 0N, B0 AR R R (100 K
F—#F (mL) 9 500~1000: 1 AELH] G2l 500 7740 BB AN TmL B0550—), 8 75 ik il e 4 B ml 4t
Ml (UK#, Th= 20% 8% 200W, #E7 3s, [AIBG 10s, H 30 %); 8000g 4°C & L» 10min, B L3, BHik L
FRill

M HBALRE (g) « WH KB (mL) A 1: 5~10 BIELE] CEIFRINZ 0.1g A4, A 1mL i
Fl—), MATUKIBEIH . 8000g 4°CE 0> 10min, X L&, BEIK AR
2, M3 CRO FR&: BRI,

ME LR

Iy BT B EEAR AT E 30min BA b, FT3K S 340nm, ZEIHKIAE.

2. KR AR RS ZER AR = H N 19mL 3875 1 0.5mL 18K, FAHRSIRH: AT 1R
G4 E-20°CORAE, BRI RO R

3. MERTEAST I TARRAE 37°C (FLE) 8L 25°C (e /KB 10min LA .

4, FEREA I EMEL 96 FLAR I 5 u L BEAHT 195 u L TR, ¥20)5 5 RIE S, 340nm 4b 20s A IR

JGE A1 AT 1min20s J5IIMROGIE A2, TH5 AA=A1-A2,

R 45 ALA2 KT 0.5, WHERRHSIGRRMR:,  AL-A2 /NTF 0.5, Algmiaill REUZ. HEAX R
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NADP-MDH & H BT E :

a. FEA R A M E R EARW T

1. I () NADP-MDH i /1 Hyit5

B E X B R B4 EEFE 1 nmol ¥ NADPH 5& SUN—ANERE 1 540

NADP-MDH (nmol/min/mL) =[AAxV g+ (exd) x10°]+V #+T=6430xAA

2. 4. YN I F NADP-MDH i 7135

(D EFEARREHWRE T

BRI RE X B mg U (A B FE 1 nmol ) NADPH 5E SCA—ANEHE /1 847

NADP-MDH (nmol/min/mg prot) =[AAXV &+ (exd) x10°]+(V #ExCpr) ~T=6430xAA=Cpr

(2) FEREARBEE T

BRI RE e B g AU P FE 1 nmol ) NADPH & XN —MEgE /18847 .

NADP-MDH (nmol/min/g 5 ) =[AAXV R+ (exd) x10°]= (W xV £V R +T =6430xAA+W
(3) &40 b BN A 25 P 1A

B X B 1 J3ANGH B RN A 2 5 FE 1 nmol 1) NADPH € SN — Mg /) 8407 .

NADP-MDH (nmol/min/10% cell) =[AAxV S+ (exd) x10°]= (V BE=V FEEX500) +T=12.86xAA
V& RNARREAEF, 2x104 L; e: NADPH BE/RIEEFEL, 6.22x10° L/ mol /om; d: HEIMEH,
lem; V#E: JIAFEAETR, 0.005mL; VAES: IARBBAI, 1mL; T: KMEAE, 1ming W: A
JRE, g Cpr: BEARZEMARIKEE, mg/mL; 500: 4 EL40E A%, 500 77,

b. FH 96 FLiR I E KR AR T

1. I (¥) NADP-MDH i /1 Hyit5

BAIRE X MR ME G & 8HFE 1 nmol i) NADPH & SUA— NS /I 807 .

NADP-MDH (nmol/min/mL) =[AAxV g+ (exd) x109]+V ££+T=12860xAA

2. 4. YN E4IAF NADP-MDH i 7135

(D EFEARREHWRE T

BRI RE X B mg AU (AR B FE 1 nmol ) NADPH 5E SCA—ANEHE /1 847

NADP-MDH (nmol/min/mg prot) =[AAXV g+ (exd) x10°]=(V FExCpr) +T=12860xAA+Cpr

(2) FPEARBEE I

BRI e B g AU BRI FE 1 nmol ) NADPH & XCN— MBS /18847 .

NADP-MDH (nmol/min/g 8 ) =[AAXV &+ (exd) x10°]= (Wx V £V FER) T =12860xAA+W
(3) &40 b BN B 25 P T

B e B 1 J3ANGH B RN A 20 S FE 1 nmol 1) NADPH € SN — Mg 77 8407 .

NADP-MDH (nmol/min/10% cell) =[AAXV [E+ (exd) x109]= (500xV FE+V FEED +T=25.72xAA

V Rk RNAA RS, 2x104L; e: NADPH BE/RIIGRE, 6.22x103 L/ mol /em; d: 96 FLBUGE,
0.5cm; VFE: MAFEAMF, 0.005mL; VHES: MARBGRAEM, 1mL; T: RFEE, [ ming W: £
KRR, g Cpr: BEARZEERWKE, mg/mL; 500: AHHIE40E L%, 500 5.



